
N5 Maths: Functions  
 

 

 

This resource is copyright © Maths.scot, released under a Creative Commons "Attribution, Non-Commercial, No Derivatives" (CC BY-NC-ND 4.0) licence. 

Answers 
 
Q1   a) 𝑓(3) = 11  b) 𝑓(−2) = − 9   c) 𝑓(0) = − 1  

 

Q2  a) 𝑔(2) = 7  b) 𝑔(−1) = 4 c) 𝑔(−2) = 7  

 

Q3  a) 𝑓(1) = 4  b) 𝑓(2) = 5  c) 𝑓(−2) = − 11   

 

Q4  a) ℎ(4) = 4  b) ℎ(0) = 2  c) ℎ(7) = 5  

 

Q5  a) 𝑓(1) = 3  b) 𝑓(−2) = − 12  c) 𝑓(4) = 72  

 

Q6  a) 𝑓(1) = 3  b) 𝑓(9) = 1  c) 𝑓(0) is undefined. 

 

Q7  𝑎 =  4 

 

Q8  𝑡 = 3 

 

Q9  𝑟 = ±2 

 

Q10  𝑎 = 25 

 

Q11  𝑖 = 2 

 

Q12  𝑛 = 60 
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